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Week 3

Day

Lesson

Date Completed

1)

2)
3)

CATQ-Marigolds. Read the selection. Answer questions 1-5.
Remember to use key details from the text to support your
answer.

Language Spiral #1 - Answer questions 1-3.

My SBAC Coach - Read the assignment. Read and annotate text
“Lost Brothers” by Tony Cerna.

1)
2)

3)

Reading Start-up Visualize Vocabulary and Understand
Vocabulary

Getting Ready For Exponents and Scientific Notation What It
Means to You Example 8.EE.1

Next Gen Math Expressions and Equations EE.1. Answer the
guestions 1 -5 all.

1)

2)
3)

CATQ - Marigolds. Reread the selection. Answer questions 6-10.
Remember to use key details from the text to support your
answer.

Language Spiral #1 - Answer questions 4-5.

My SBAC Coach - Answer the question: “What inference can be
made about the author’s opinion about the Granite Mountain
Hotspot Team? Use key evidence from the passage to support
and explain your answer. Begin writing prompt by referring to
stem starters

1)

2)

Getting Ready for Exponents and Scientific Notation- Read
What It Means to You Example 8.EE.3

Next Gen Math Expressions and Equations EE.3 & EE.4.
Answer the questions 1 -5 all.

1)

2)
3)

CATQ - Re-read “Marigolds” by Eugenia Collier. Analyze text and
use context clues, by using Google doc titled: “Analyze Text and
Use Context Clues.”

Language Spiral #1 - Answer questions 6-9

My SBAC Coach - Read the assignment. Review stem starters.
Continue writing prompt.

Day 1 Go Math 2.4 Operations with Scientific Notation

1)
2)
3)

Example 3
Your Turn answer questions 4 - 7
Guided Practice - Answer questions 1-15 all




1} Spiral #1 - Read the entire selection: “A Job to Sink your Teeth
Into.” Answer questions #1-8

2) Language Spiral #1 - Answer questions 10-15

3) My SBAC Coach - Read the assignment. Edit and revise the
writing prompt.

1) Go Math lesson 2.4 Independent Practice - Answer
questions 16 - 25 all

Spiral #1 - Can You Take the Heat #2. Read the selection. Answer
questions 1-8 Remember to use key details from the text to support
your answer.

1) Language Spiral #1 - Answer questions 16-18

2) My SBAC Coach - Rewrite and publish your story.

1) Problem Solving with Scientific Notation - Check for
Understanding. Answer questions 1 -5 all.

Recommended Online Usage

I:l

I-Ready Reading - 45 minutes per week O I-Ready Math - 45 minutes per week

0

Imagine Learning for English Learners - 90 minutes per week 3 Dreambox - 90 minutes per week
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GRADE 8 CCSS NAME:
SPIRAL #

1. Which is the correct way to write the underlined portion of the following sentence?

The cat tried desperately to climb out of her cage.

Fun<ticn of
Varhals

tried desperately to be climbing
tried to desperately climb

tried to desperately be climbing
Correctas is

oo w»

L.8.1.A

2. Read the following sentence..

. but we knew the show was a success when
the audience applauded enthusiastically at the end.

Which set of words completes the sentence in the active voice?

Some members of the dance team made mistakes

Some members of the dance team had mistakes happen
Mistakes being made by some members of the dance team
Mistakes were made by some members of the dance team

O

L.8.1.B

3. What is the mood of the sentence below?

Upon hearing the fire alarm, walk calmly to the nearest exit.

A. indicative
B. imperative
C. interrogative
D. subjunctive

L.8.1.C
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Making an Inference from Informational Text

Topic: Granite Mountain Hotshots

Your Assignment:

Read the research report below. .

Lost Brothers

By Tony Cerna

On June 30, 2013, nineteen of the twenty members of the Granite Mountain Hotshots
crew perished in the Yarnell Hill Fire. It was the greatest loss of life for first responders in
a single event since 9/11. The elite firefighting team died when the winds shifted as they
were fighting the wildfire just outside of Phoenix, Arizona. All of their expert training
could not save them as they deployed their “last resort” fire shelters in front of a blaze

that was raging at more than 2000 degrees Fahrenheit.

The team had been previously situated in a burned out part of the terrain when they
decided to move closer to the “safe” zone and evacuation route that had been
designated for them. It is unclear specifically why the decision was made to do this, but it
was this action that put the team directly in the wildfire’s path. With no way out, the men
set up the fire-resistant shelters, they look like miniature tents, and got underneath them
with hope that the fire would burn over the top of them and that they would be able to

survive.

Only one member of the Granite Mountain Hotshots crew survived. Brendan
McDonough was the lookout for the team, and he was about a mile away when the fire
shifted and trapped his brothers. He listened on the radio as the call that they were okay

never came.

https://mysbaccoach.com/print-assignment/?record-id=5513 13



3/25/2020 Print Assignment — My Writing Coach
wrote a book that tells his story; one in which he goes from near death as a drug addict

to a member of an elite hotshot team, his “family”.

Only the Brave is a movie about the Granite Mountain Hotshots. It was released in 2017,
and it focuses on the lives and brotherhood of the men on the crew. The Granite
Mountain Hotshots' story is not just about their tragic deaths. It is a story about a group
of men, brothers as they saw themselves, who put everything on the line for others. That

is something to be remembered.

Stems to Start:

| infer that the author thinks...
The author thinks that the are...

I can tell that the author thinks...

Your Response:

https://mysbaccoach.com/print-assignment/?record-id=5513 3/3
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Reading start-Up

Visualize Vocabulary

Use the v words to complete the Venn diagram. You can put more
than one word in each section of the diagram.

10 is: | | 2 is:

Understand Vocabulary
Complete the sentences using the preview words.
1. Anumber produced by raising a base to an exponent

isa

2. is a method of writing very large or

very small numbers by using powers of 10.

3. A is any number that can be expressed

as a ratio of two integers.

Active Reading

Two-Panel Flip Chart Create a two-panel flip
chart to help you understand the concepts in this
module. Label one flap “Positive Powers of 10" and
the other flap “Negative Powers of 10." As you
study each lesson, write important ideas under
the appropriate flap. Include sample problems
that will help you remember the concepts later
when you look back at your notes.

Vocabulary

Review Waords

v’ base (base)

v/ exponent (expanente)
integers (enteros)

v positive number {(niimerc
positivo)
standard notation
{hotacion estdndar)

Preview Words
power (patencie)
rational number {ntimero
racioneal)
real numbers (ritimero
real)
scientific notation
(notacién cienitifica)
whole number (nimero
entero)

Module2 31
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Know and apply the properties
of integer exponents to
generate equivalent numerical
expressions.

Key Yocabulary

integer (ciitero)
The set of whole numbers and
their opposites

exponent (cxponernie)
The number that indicates
how many times the base is
used as a factor.

Use numbers expressed in the
form of a single digit times an
integer power of 10 to estimate
very large or very small quantities,
and to express how many times
as much one is than the other.

Key Vocabulary

scientific notation (11otucicn
cientifice)
A method of writing very large
or very small numbers by using
powers of 10,

Visit my.hrw.com
toseeall CA
Common Core

Standards

Y228 explained.

32  Unit1

| | N E

Understanding the standards and the vocabulary terms in the standards
will help you know exactly what you are expected to learn in this module.

What It Means to You

You will use the properties of integer exponents
to find equivalent expressions.

Evaluate two different ways.
8 8_  8-8-8 1 1

8 8 8-8.8.8.8 8.8 064

& gon_ga_1__1 _ 1

8° 8 8:8 64
(33" (39)*=(3)(39)(39)(3) = 32+2+2+2 — 38 — § 561
(39 =324 =3%=6,561

What It Means to You

You will convert very large numbers
to scientific notation.

s

There are about 55,000,000,000 cells in an average-sized adult.
Write this number in scientific notation.

Move the decimal point to the left until you have a number that

is greater than or equal to 1 and less than 10.
55000000000 iove the decimal point, 10 places b
VAN WA WA WA W § 4

g 5o ofmn
TEIR ST 1ok B O

55 Lemove the extig zaros,

You would have to multiply 5.5 by 10" to get 55,000,000,000.

55,000,000,000 = 5.5 x 10

© Houghton Mifflin Harcourt Publishing Company
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Expressions and Equations EE.1

G E N Name

SMAH

L. select all expressions equivalent to (2° » 273)~2

A | | 23.25

B.| |42
A

C.| | 4

2. Enter the value of n that makes the equation 46 « 4”7 = 49 trye.

n=

3. A space ship travels at 102 miles per hour and traveled for 1014 hours.

Select the answer that represents how many miles the space ship traveled.
(A) 1028

(B) 107

(C) 1012

(D) 106

4. Small Town USA has a population of 3 x 102. Big Town has a population of 6 x 10°,

How many times larger is Big Town's population than Small Town's?

(A) 2
(Q) 20
(C) 200

(D) 2000

https://nextgenmath.com/print/?data=eyJ0eXBlljoic3RIbVBhY 2siL CJpZCI60DMzNzUsInRpdGxlljoiRXhwemVzc2lvbnMgYW5KIEVxdWF0aWQucyBFR. ..
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5. A space ship travels at 42 miles per hour and traveled continuously for 419 hours.

Enter the answer, in the form of x¥, that represents how many miles the space ship
traveled.

htips://nextgenmath.com/print/?data=eyJ0eXBlljoic3RIbVBhY2siLCJpZCI6ODMzNzUsInRpdGxlljoiRXhwemVzc2ivbnMgYWSKIEVxdWF0aW9ucyBFR...  2/3



4. The following is a paragraph from a student’s essay on the causes of World War Il. Read the following
paragraph and answer the question that follows.

It can be argued that we, the victars of World War |, are as
much to blame for the onset of World War Il as the Nazi party.

A policy was set forth by the Leaque of Nations following
World War | ly.ari - s G
of blaming Germany that was responsible for the volatile

i Wi War Il

Which of the following is the BEST revision of the underlined sentence in the paragraph?

A. An extremely grievous policy of blame was set forth by the League of Nations that was
responsible for the volatile conditions that led to World War II.

B. The League of Nations set forth a policy, one that was an extremely grievous policy, of blame
towards Germany that was responsible for the volatile conditions that led to World War |I.

C. An extremely grievous policy of blame was set forth that was responsible for the volatile conditions
that led to World War |I.

D. The League of Nations set forth a grievous policy of blame towards Germany that was responsible
for creating the volatile conditions that led to World War |I.

L.8.1.D

5. Identify the correct substitution for the underlined portion of the sentence below.

To prepare these muffins start by putting two ripe bananas a cup of walnuts, 2 cups

of flour, two eggs, 1 cup of sugar in a bowi.

Punctuation

muffins, start by putting two ripe bananas a cup of walnuts

muffins, start by putting two ripe bananas a cup of walnuts;
muffins; start by putting two ripe bananas a cup of walnuts,
muffins, start by putting two ripe bananas, a cup of walnuts,

oW

L.8.2.A
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Expressions and Equations EE.3 & EE.4

G E N Name

Y MA-H

How many times larger than 2 x 102 is 12 x 10%?

1.

(A) 2.4x10°
(B) 6x 108
./'E"\ 2
\~) 6x10

(D) 1.2 x 105

2. Approximately 4.6 x 103 gallons of grain flow through a silo each second. There are

8.6 x 104 seconds in 1 day.

Select the approximate number of gallons of grain that flow through the silo in 1 day.

(A) 39.56 x 1015
(B) 39.56 x 1014
(C) 39.56 x 107

(D) 39.56 x 106

3. Approximately 4.1 x 10° gallons of chemicals flow through a tank each second. There are

8.6 x 104 seconds in 1 day.

Select the approximate number of gallons of chemicals that flow through the tank in 1 day.

(A) 35.26 x 1011
(B) 35.26 x 1019
(©) 35.26 x 1010

(D) 35.26 x 1020

https://nextgenmath.com/print/?data=eyJ0eXBIIjoicSRIbVBhYZsiLCJpZCIGODMzNzcsIandeIIjoiRthcszc2IvbnMgYW5kIEdeWFOaWQucyBFR... 1/3
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4. Which value is closest to (2 x 103) + (4 x 10°)?

(A) 4 x 108
(B) 6x 108
(C©) ax10°

(D) 6x 105

5. Which value is closest to (6 x 108) + (2 x 105)?
(A) 6x 1013
(B) 8x 108
L_E) 6 x 108

(5) 8 x 1013

hitps://nextgenmath.com/print/?data=eyJ0eXBlljoic3RIbVBhY2siL CJpZCI6ODMzNzcsInRpdGxlljoiRXhwemVze2ivbnMg Y WSKIEVXdWF0aW9ucyBFR...  2/3



Name Date
Marigolds by Eugenia Collier
Analyzing the Text

RL 1 Cite textual evidence fo support analysis of what the text says explicitly as well

as inferences drawn from

the text. RL 2 Determine a theme of a text and analyze its development. RL 4 Determine the figurative
meaning of words and phrases as they are used in a text.

1.Analyze Symbolism: Miss Lottie's marigolds are central to the story. What do they symbolize? To
help you interpret their meaning, create a chart like the one shown to record descriptions of the
marigolds and the ideas you associate with them.

Complete the chart with two descriptions and their associations

Description of Marigolds Associations

“a brilliant splash of sunny yellow" (lines 10-11) “sunny yellow," like the sun, gives energy and life

RL 8.4 Determine the meaning of words and phrases as they are used in a text, including
figurative and connotative meanings; analyze the impact of specific word choices on meaning
and tone, including analogies or allusions to other texts.

Vocabulary in Context
Decide whether the words in each pair are similar or different in meaning

L perverse/agreeable

2. squalor/splendor

3. exuberance/enthusiasm
4. retribution/retaliation
5. nostalgia/homesickness
6. futile/effective

7. poignantly/indifferently
8. bravado/timidity

9. degradation/humiliation
10.  ostensibly/apparently
11. impotent/powerless

12.  stoicism/emotionalism




Vocabulary Strategy: the suffix -or

Many words have endings called suffixes that can help you determine a word's meaning. For example, the
word squalor ends with -or, a noun suffix derived from Latin meaning "state or condition of." You may
recognize squalor as similar to the word squalid, meaning "very dirty or filthy." These two insights can
help you conclude that squalor means “a filthy condition.” Recognizing this suffix in other unfamiliar
words can provide clues to the meanings of those words.

PRACTICE Use each numbered word in a sentence. Then use your knowledge of the suffix -or to figure out

the meaning of each word. Use a dictionary to check your work.

Word

Context clues

Guessed definition

Dictionary definition

terror

furor

candor

stupor

fervor

pallor




6. Read the sentence.Then, read the question that follows.

This country, with its institutions, belongs to the people who inhabit it.
-Abraham Lincoln

Eillipsis

Which of the following uses correct punctuation?

This country...belongs to the people who inhabit it. ~Abraham Lincoln
This country: belongs to the people who inhabit it. —Abraham Lincoln
This country; belongs to the people who inhabit it. ~Abraham Lincoln
This country—belongs to the people who inhabit it. —~Abraham Lincoln

oo W

L.8.2.B

7. Which sentence shows the underlined word spelled correctly?

Mr. Norton was an old acquaintance.

Mr. Norton was an old acquaintence.
Mr. Norton was an old aquaintance.

Mr. Norton was an old acquantance.

Spelling

oo

L.8.2.C

8. Choose the sentence that uses the underlined word correctly.

A. | had a transient childhood living in the same house for over ten years.

B. The building was considered transient because it had been standing in the same spot for many
years.

C. The transient workers were hard to locate because they always moved from city to city and from
job to job.

D. The shipping company used trucks to transient packages all over the country.

L.8.3.A

9. Read the sentences.

If it is intermission, we could go to the lobby and buy some hot chocolate.
But until then, we have to wait.

What is the correct way to rewrite the underlined sentence?

A. Ifit's intermission, we could go to the lobby and buy some hot chocolate.
B. Ifit were intermission, we could go to the lobby and buy some hot chocolate.
C. Ifit will be intermission, we could go to the lobby and buy some hot chocolate.

D. Ifit was intermission, we could go to the lobby and buy some hot chocolate.
L.8.4.A
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2. Light travels at a speed of 1.86 x 10° miles per second. It takes light
from the Sun about 4.8 x 10® seconds to reach Saturn. Find the
approximate distance from the Sun to Saturn. Write your answer

in scientific notation.

3. Light travels at the speed of 1.17 x 107 miles per minute. Pluto’s
average distance from the Sun is 3,670,000,000 miles. On average, how
long does it take sunlight to reach Pluto? Write your answer in scientific

notation.

Scientific Notation on a Calculator
On many scientific calculators, you can enter numbers in scientific notation

by using a function labeled “ee” or “EE". Usually, the letter “E” takes the place of
“x 10" So, the number 4.1 x 10° would appear as 4.1E9 on the calculator.

B CA'CE) 8.EE.4

The table shows the approximate areas for three continents given
in square meters. What is the total area of these three continents?
Write the answer in scientific notation using more appropriate units.

Continent Asia Africa Europe
Area (m?) 44 x 10" 3.02 x 103 1.04 x 10"3

Find 4.4 x 107 +3.02 x 10" 4+ 1.04 x 10",

Enter 4.4E13 + 3.02E13 + 1.04E13 on your calculator.
Write the results from your calculator: 8.46E13.

Write this number in scientific notation: 8.46 x 10'3 m?.

Square kilometers is more appropriate: 8.46 x 107 km?. -~

YOUR TURN)
Write each number using calculator notation.
4. 75x10° 5. 3x 1077 6. 27 x 10"

Write each number using scientific notation.
7. 45E-1 8. 5.6E12 9. 6.98E-8

)

PersonaT
Math Trainer

Online Practice
and Help

S
" S )
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Add or subtract. Write your answer in scientific notation. (Example 1)

1. 42 x 10°+2.25 x 10° 4+ 2.8 x 10° 2. 85x%x 10°—53x 10° — 1.0 x 102
42 x 10% + x 10 +2.8 x 10° 8.5x 10° —53 x 10° —
42 + +
x 10 x 10
3. 1.25 x 10 + 0.50 x 10% + 3.25 x 102 4, 62 x10°—26 x 10* — 1.9 x 102

x 10

Multiply or divide. Write your answer in scientific notation. (Example 2)

5. (1.8x10°)(67 x 102) a 3%6;1_10(9,17
7. (5x107)(3.38 x 10°) - iﬁi—‘,gi

Write each number using calculator notation. (Example 3)

9. 3.6 x 10" 10. 7.25 x 10~° 11. 8x 1077

Write each number using scientific notation. (Example 3)

12. 7.6E-4 13. 1.2E16 14. 9E1

1:;'.,1::,.
%& ESSENTIAL QUESTION CHECK-IN

15. How do you add, subtract, multiply, and divide numbers written in
scientific notation?

56 Unit1
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10. The verb exacerbate is derived from the Latin word exacerbare meaning "to irritate." What
is the best definition for the word exacerbates as it is used in this sentence?

This new scratch on my arm exacerbates the pain I'm experience
with my broken wrist.

chafes
includes
worsens
interrupts

oW

L.8.4.B

11. Read the following sentences.

As the family savored the rich warmth of the sweaet rice balls, Aunt Fumika
began to talk of life in Japan. Aunt Fumika spoke perfect English, though
accented. Keiko could understand every precise word.

Now read the dictionary entry for precise.

Main entry: precise

corract

strict

exact

to handle the smali details
harsh

Refarerce
v

I¥at:

DhWN

Which of these is an accurate definition of precise as it is used in the text above? Pick two options.

correct

strict

exact

to handie small details
harsh

moowy»

L.8.4.C




12. Jane thought that the word traditional meant "simple."
After she read the following text, she discovered that her definition was incorrect.

Read the lines from the text.

It's intricate embroidery of red and pink floral design was embarrassing to Keiko. She
was distressed by her inner rejection of something that represented her ethnic heritage.

The kimono was {raditional...her aunt was delighted to have given her special niece
such an appropriate present. Now all of her niece’s friends would know that Keiko’s people
came from Japan.

Which of the following most accurately defines traditional as it is used in the text above? Select two
options.

expensive

going along with custom or belief

old

relating to family legacy

ridiculous

unattractive

mTmoow»

L.8.4.D

13. Which of the following sentences is an example of imagery?

A. Peter turned an even brighter shade of red.

B. I guess I've learned that it's a bad idea to be too curious.

C. Most younger brothers think that their older brothers act strangely sometimes.

D. Naturally, that has made me even more determined to discover what Peter is up to.

L.8.5.A

14. Complete the analogy.

tweezers : pull ;- scissars

Relationahins

cut
sharp
push
paper

o>

L.8.5.B

15. Read the sentence.

"When | left Antarctica at the end of my visit, | had thousands of
photographs, hours of video, and reams of research notes about
emperor penguins.”

241

2tion

A& Renctano

Cannoss

Which is the BEST way to determine the meaning of reams?

A. Read the word aloud.

B. Describe the topic of the sentence.

C. Explain the meaning of research notes.

D. Compare it to the words thousands and hours. L.8.5.C
















© Houghton Mifflin Harcourt Publishing Company - Image Credits: ©Moodboard/Alamy Images

Name —

SN0 8.EE.3, 8.EE.4

16. An adult blue whale can eat 4.0 x 107 krill
in a day. At that rate, how many krill can an
adult blue whale eat in 3.65 x 10° days?

17. A newborn baby has about 26,000,000,000
cells. An adult has about 4.94 x 10" cells.
About how many times as many cells does
an adult have than a newborn? Write your
estimate in standard notation.

Represent Real-World Problems The table
shows the number of tons of waste generated
and recovered (recycled) in 2010.

Plastics

;‘;:irated 7.131 x 107 1.153 x 107 3.104 x 107

Tons ; i ]
ecovercH 4457 x 10" 0313 x 10" 0.255 x 10

18. What is the total amount of paper, glass,
and plastic waste generated?

19. What is the total amount of paper, glass,
and plastic waste recovered?

~_Class_ ~~__Date

*_\H_:? \ Personal

N :!L‘-‘—I__ Math Trainer
| X %‘?‘I P

WAL | onfine Practice
@ my.hrw.com and Help

20. What is the total amount of paper, glass,
and plastic waste not recovered?

21. Which type of waste has the lowest
recovery ratio?

Social Studies The table shows the
approximate populations of three countries.

Country China France = Australia

Population 1.3 x 10° 6.48 x 107 2,15 x 10’

22. How many more people live in France than
in Australia?

23. The area of Australia is 2.95 x 10° square
miles. What is the approximate average
number of people per square mile in
Australia?

24. How many times greater is the population
of China than the population of France?
Write your answer in standard notation.

25. Miais 7.01568 x 10° minutes old. Convert
her age to more appropriate units. Assume
that each year has 6 months that have 30
days and 6 months that have 31 days.

Lesson24 57






MIIADY XI3M 0T V13 ASND | T 33m

"SAIOUDTIOWD
Sunmp jusuyess [esrpsuw Jussin opiaoid oy paay 8urdq aue ojdoad Auejy @

‘suonisod

Suny3ryeay pred o) Surdueys oq [[1m suonisod SunySyouy 1e0junjoA Auepy ©)
*S[quds |10 se

Yons Sa1ouaSIdwa S[puey 03 paures) A[[e1oads Sureq are SISYSIJOII] JUSLIND AUBA] @®
"qof 2y} uo pamfur

SW033q I0 d1rJaI OyM SI2YYSalL) dde[doI 01 papasu aq [[im o[doad Auepy ®

£95810UT 03 Pa3IAdxd dae SIYSyoaLy Jof
saptanytoddo qof yey eapr 3y syaoddns 3saq 3x3) oy WO} 3UIPIAI YIIYAM T

s[Ie1a(q A3 § 1931e

*$qo[ 19m3J oAey s10yS1yaur] @

"sannp qof oyroads wuioprad o) Sururer) [e1oads aaey sIo)y3yyaarg @
"19a1e9 2ANNedwod Jsow 3y ALY SIYYSIYAIL] °

"OW0dU YSIY PUB JI0M O[N] ALY SIS ] ®

$¥%3) 3Y) JO BIPI [BIIUID 3Y) S[EIAI JSIq JUIWI)E)S YIYAL °[

SBIP] [B1IUI)) ¢ JASIE

"ANunwwos ay} pue

a1doad 309301d 01 3utdjey axe Koyy mowy Koy ‘Suiptemau
st qol 1oty Aes szow3yony Auews ‘uof aq ues syIys

oy} pue [NJSSAIIS 9q UBD HIOM 1) YSNoy)[y "Juswiean
[eoIpaw JO SULISPUAI dY) SUIPN]IUI ‘SALNP I9YI0

Jo A1oLIeA € y)im payse; axe A3y} ‘saze|q ysmSunxs oy
payoedsip Apusnbayy are s1oySyoay s[1yp Surpesysiu
Jsowr oY1 Jo suo sdeyuad si a1 qol s 11ySya1y v (6007
‘LT ISN3NY ‘000£3A31YVY) *D"q ‘NOLONIHSVM

0801-086 21X (JBIH AY) e, NOX Ue)

S8IT-0101 3
0CIT-0L6 L
GET apein)
X

I 3HAM

6 LIDAV.L :ONLLTIM T WIVIO
PL €T “TE ‘0T ‘T1 ‘8 6 SLADYV.L {LXAL TYNOLLYINHOANI T WIVTID

C# MATATY JMTAM 01

8-L SHAVIOD




M3IASY NoOM 0T V13 AsnD | T ¥3Im

SINOH (g)

Sururel], pue uoneonpyg ©)

SaUNA 90f (o)

sanifen() [euosiod pue sanIIqy ®

4V e ul 1amsue anoA sproddns 3saq 31X} 9Y) woay uondds YoIyAp
g yed

oM J1Y)

Suruuogsad o[1ym 0. SINYSIIAIY SYSLI 97} JO SWOS AQLIISIP 0 SJULM JoyIne oy L@
‘S[eLIaJeW ShopJezey

s[puey 0} paredaid oq Jsnw sIYSIFAIIJ 1By} JJRISUOWSP O} SJUBAL JOYINE Y, ©)
‘Sururer) [esipaw

urelqo Isnwi sIoy3iyaily Aym o) se uoneuedxs ue ap1aoid o} sjuem Joyne Y, '0)

"SSO[ WIBD SIAYJ0
SIYM I8k € )00°0LS WIed s1yIiyaly swos Aym ure[dxa o3 sjuem Joyjne oy L®)

Juoneurioyur siy) SunLIAM 10j Jud)ul S I0YINe Iy} A[ONI] JSOW SI JBYAL

"qof oy uo a[1ym
SIUSPIOJL OJRI] Ul JNY SIWIIWOS e SINYSIFAIL) ‘Uonippe Ul "Aem JuIAlg sjem
pue SIOO[} Se Yons sJeaIy) 998 sIYFialy ‘sSurp[ing Suruwing apisul Surpiom sy

‘MO39 SIDUIUIS 3] pedy °¢
V Mg

‘spaed om) sey uonsanb sy

uonen[eAy pue ulUOSBIY ] J981e],

9saY [, "S[eLISjeW SnopJezey SUIAJOAUT SAIOUSSIOWD
s[puey 01 pauren Ajjeroads ale s19YSYaIy 1OYIO

"9[qISSIIBUI 9q ISIMIAYIO

pPInoMm jey} suoneoo] sjoudl ojul gunnyoeied Aq

SJ1J 1S310J JO JUSWIUILIUOD JY) Ul IsIsse , ‘siadwnl oxjows,,
Pa[[8d ‘SIYSYAINJ SWOS 211J oY} SUIPUNOLINS UONLBISToA
Surrowar pue saax umop Surddoyo Aq aze[q sy Jo

yred oY) Ul [BLISJRW J[QIISNQUIOD SAOWIAI ABW SIYS1JoaL)
‘saul] a11] 91eaId 0], “pealds si1 Juaaaid pue [ang

Jo axiy ayp sArxdap yorym ‘sour| airy Suneard Aq azejq ay

SUISO[OUS SIAJOAUI USYJO IOM SNONUAIS SIY ], *SAILJ 1SI0]
01 puodsai 01 pauren A[eroads aie siay3yyaIy swos

"SITOUSZISWS Y)[eaY JAYIO PUR ‘SYOBYR LIBAY ‘SoLnfur
‘uorjereyur axows woly surayyns s[doad jear 03 posu
Aewr Aoy ], YdD PUB PIe ISIJ SOPNOUT SIY ], “JUSUWILaL]

[edipaw Juadin apraoid 01 uo paqes aq Aew sIYIiyaIly
‘sad£) [1e JO saudos AouaIawe 1y *OLJeI) 102IIp pue
SO[OIYIA UIOIJ SUINDIA 19BNXI AW SIYSIAILJ “YSerd & Jo
QuLds a3 1y “s8urp[ing Suruing JoJU2 0} S[[eM pUE SIO0p
ySnoJy) yealq pue sioppe] quii[o 0} paiinbar aq os[e
Aewr Ky ], ‘sasoy aanssaxd-y3iy ‘AAeay] 1oAnouewr pue
sdwnd 1o1em oyesodo sioyIiyally ‘9ze[q e JO dUadS Y1 1Y
"SIIOUSBIOWS IOYI0 PUB ‘SI9ISBSIP [BINJEU ‘SISLID [BOIPIU
‘SIUDPIOOE J[OIYQA 00U ‘SAILJ 0] puodsar Ajajerpawiul
1snu sIa)y31yaaly ‘punoid ayy Suroyue[q Mous

J0199] 921y} $,2191) JO SUTLIOUI SY) UT 331} ST IOYIOYM

sannq qop




MIIAY 393 0T v13 asnd |

"dUI[O3P 0 Pajoadxa SI s19)ySyaIL J0] puewdp oy jeys djdoad wojur o, @
"$10)yS1jauij JO sannp qof pue ‘Surures) ‘UorEINPS SY) SZLIBWIWNS O ©)
"S[[I[S [BIIPIW PaaUl ] UOP SINIO Ul YIOM Oym sIoYYS1yaIry Aym urejdxs o @
SIIDYS Yrewr FUOLS SABY PUB SABAIO 9q O) PASU SINYSLOIL TRY) [BIASI O, ®

$dsodand s aoyyne 31)) ynoqe [8IAII )X3) Y3 Ul
Pa1ussaad woneurIOyul 3Y) SIOP JBYAA "IINLIE SIY) UI PBAI NOK JBYM UO pIseyq °S

$)X3 [, SsoJde/uIy)Im sisA[euy 7] 3oSae],

SNOAAYU] ()
dlqemouy (3
[BIQOIIN (5)
SNOIEIN (7)

(,STIOISEITOS PIOM dY) JO SUTHEIW JY) $I)¥)S )59 PIOM [IIYAL

“osjows
Pue ‘31l “saseasIp SHOTIEIU0D ‘S[edIWAYd snopiezey 0} pasodxa oq Aewr Aoy,

*MOJ3(q IDUNUIS Y} PeIY ‘P

SUIUBIAl PIOAA (T 395ae]

3}I0oM pue d[qeI[al 9q JSnu SIAYSIYAIL] 'SUOHBNIS dSUSIUL

Sump Suturen J1oy} JoquIswI pue ‘APIb suoisioap

e ‘ALIe3[9 MuUIy) 03

Pasu [[1m A3y; se ‘ainsoduiod
urejurew oy Ayjiqe

oy sAey isnux A3y opmnde
[edtueydaw ssassod 0}
SIS1YSYaIL) 0] [RIONID OS[E SI
1 19 AjresrsAyd pue Suoxns aq
1SN SI9YS1aILJ ‘0I0JISY [,
“JIOM SNOJOTLI ST SIOAIAINS
Buinosai pue juswdinba
Bunydy-ouy Juikue)

sapienQ
[euosIag pue sanIIqy

JNo puy o}
su1ey oo

Ll
404d B sjeypm
AL AT

4VH B $4eUM

"qol a3 uo 2[IyMm sjuapIdoe

OLJe) Ul LNy SQWIAWOS dJe SIYSIJAI ‘UONIPPe U] ‘Aem
SuIAI3 S[[em pue SIOO[J SB [ons SJealy) 398) sIaySyaly
‘s3uIp[ing Surwing apisur SuDoM d[IYAL “aows

pue ‘aIlJ ‘saseasIp SnoIFeIuod ‘S[edIWoYd Snopiezey

0} pasodxa aq Aew K3y [ Iom J1oyy Suruuogiad
9[1yMm Yeap Jo Anfui yo ysu yS1y e 208y SINySyyaar]

"S[EOIWAYD OIX0] JO SISLI[AI UIRIUOD

J0 ‘o1duwexa 10J ‘sypids 1o dn ueapd Aew siaySyoay




MIIAIY N38M 0T V13 asND | T ¥3Im

"Surpuewsp K104 st 103ySyaaiy e Jo qol ayy 1ey s3s933ns 11 @

SIS [edrpawr saxmbai sojySyyauyy e Jo qof ays Jeyy s15998ns 3 ©)
"uoneonpa ue sannbal seyySyaay  Jo qol ayy jeys s15988ns 1 ®
*a1doad djoy pue 103101d 03 st sepySiyeny € jo qol ayj 1Y) 535933 ns 11 ®

JIx3) ) mr
papraoad woyeurioyur s Jogine ogy ynoqe 15983 ns TEIT I ae] aseayqd ay) saop Jegan

«TESH ST B NOA ue)),,
"JX2) 31} JO AP 3 peSy L

a3es() asenSuery 1 1e8ie]

"AeM [nSIA © Ul UOHRULIOJUL PUBSIOPUN Jopearayp diay o, @
"1X9) 3y3 JO suonoas ygnody) eSiaeu Jopea oy djoy o, ©
‘uoneuLIOful aredwoo pue SZLEWIWNS 19peal 3y d[oy o ®
"SULIDY A dulyap Japeal ayy djay o], ®

£1X3) 3y) Ul SZUIPEIYQNS PIPNJOUI J0YINE 31} UOSBIA A1 Js0W I3 ST IBYAA °9

SaIM)Ld ] PUE SAINPINI)S JXI ], €] J98ae],

A1eeg

"SAep UaAd J0—sInoy

Papu2Ixa JOJ SaUd0s ASUdZIoWS 1B urewal 0} pambar

aq os[e Aew s1ay3yair ‘sepijoy pue ‘spuaxyoom syy3u
Yom uaygo A3y yeam 1ad sinoy (¢ moqe yiom AJ[ensn
SIOIYI DAL "SYIYS INOY-H | 03 -( HIom s1a1y3yoIry
‘sjustredap 15Y10 1y “jJo sinoy g Aq Pamor|oy st

Tet) YIys Inoy-{g e SJom s1ydyany ‘syusunedop owos
1V "SIuSWaIINbal 3HoM SnoLieA sAey spuswiiedsp o]

SINOH

"sonbruyos) [eaIpaw Aousgiows pue ‘sainpasoid
SunySya1y ‘uonuoaaid 211y se yons seose ur Sururen
S[qBISPISUOD SAI0I SISSAIL “PAIIY 9OUQ) ‘UOHBN[EAS
SSQUILJ © PUB ‘UIBX [BIIPIW B 4S9} USPLIM B ssed

01 painbai A[[ensn are sieyySiyauy aAnoadsord ‘uonippe
U] *339][[00 AJUNUITO) JO AISISATUN € JB 90UDIDS a1y IO
SurouIdus oxy ur sasse(d se yons ‘uoryeonps [euonIppe
pansind aAey oym sajepipues Surass A[3urseasou

aIe sjuauntedsp o] ewoydip jooyos Y31y e aary o}
s1a)yS1yaIy 9An0adsosd annbai srakojdwo Jo KQuofew v

Suiurea J, pue uoyeInpy

*3[doad djay 03 axisop
Suons e ssassod os[e jsnw Aoy, ‘wies) e Jo 1red se [jom




MIIASY ¥29M 0T V13 asND | T ¥3Im

"BTWIOJI[RD ‘ASUMO(] Ul (T ‘G UNf UO Pajie)s aIlj ay [, @

- "SAEPI[OY pue ‘SPuadoom SIYSIU JI0M USYJO SISYSLIaIL] ©)
"JUSAQ JNO-P[OS Y1 papuse oym ‘ddoad parpuny 231y} JOAO JO ‘QUO SBM | ®
"BILIOJITR)) Ul WIOQ SeA JOIYD INO ‘SaLI0 ], 9310( ®

*A1393.1.100 pajenjound SI JBY) 3IUIAUIS 3G} IS00Y)) 8

(suonudaAu0d) AJLIE]) NPF 6 1931, T uner)

spuewiap
Sunusyaiun pue ysiey SuiAey  (24122/pp) snoiogu

PaYoea1 3q 0} [qeUn  (241102{py) S[QISSIVIRUL
juepiodwr Ajowanxs  (2a110a/py) [Rroniod

pulwi Jo a1eIs wifed ®  (unou) smsoduiod

KTeuonaiq

‘Bururen [esipsw ureqo pue

‘AISISATUN JO 939]00 ANUnWIWoo € Je sasse[d Sunydyay
oY) “S[9AQ] ssauny [eaisAyd ureyurewr 0} pageInoous

a1e s1oy3yaIg aAndadsord ‘dn 39f © 198 0], ‘uonnadwos
AA®aY 298] 03 onunuod [[1m suonisod Sunygyairy

10J sa1BpIpULd ‘I9AIMOY ‘UIM0J3 qol oYy andsag

'suonisod pred 03 suomsod Sunygyyoury

JI93]UNJOA JO UOISIOAUO0D U} 0] anp A[uewrid ‘g107
Aq1ua013d 1 £q aseasour 03 pajoadxs are siayy3iyony
10y santunyoddo qofl ‘ST1g 2y) 01 Sup109oy *s1oySiyouy
se sqol pray ajdoad 000‘00¢ ueys diow ‘80T U]

yoopnQ qor

‘1eak Jod 000°SQ 1§ AJdeau Jo saLiefes

uIes Aeul ‘syaryo 241y se yons ‘suonyisod (949 soddn

ur 91dosd “1eak 1od (00‘QL$ URY} 10U 0) 0QQ°STS ULy}
$$9] w0y d3uel saLIR[eS "000°SH$ INOqe ST s10yIiyaay

JIoJ suwioour [enuue uRIpaw Y} ‘(STH) SONSHLIS Joqe|

Jo neaing *S°(] 91 WoJJ vep 1s93e] oY) 0) SUIPI0dOY




[
Q
=
5
g
=
c
=}
L¥]

Academic

otatian

4 Unin

Vocahalary

16. Read the paragraph.

I spent five summers engineering the
“‘perfect” treehouse. There was one huge oak tree
in the tiny yard behind our apartment building, and
for some reason, the landlord didn't mind that |
used it as a construction site year after year. |
fabricated what | thought were elaborate
additions—one per summer—until my friends and |
had a genuine five-room condo, a perfect location
for our super-secret club. It wasn't until years |ater
that | realized my prized creation was nothing more
than a crudely nailed together shack with cracks in
the walls and a couple of rotting boards for a floor.
And we loved it.

What does the word permanent suggest about the narrator’s initial thoughts about his construction. Select
two:

L He thought it was plain and simple

U He thought it was extraordinary

O He thought he created something spectacular

0 He thought he and his friends could live in it L.8.6*

17. Read the paragraph.

The chemistry assignment required the students to test
their hypothesis with two different controls.

Which phrase defines control?

A battery operated device

Item that remains the same throughout an experiment
Resources need to create an experiment

Regulation of power

oo W

L.8.6*

18. In which sentence is weathered used correctly?

The weathered ring we found was shiny and new.

The weathered forecast for next week is cold and rainy.

The woman collected the weathered rain in rusty buckets.
The glove was left outside and now looked old and weathered.

oo wp

L.8.6*




Student Name:
Problem Solving with Scientific Notation Assessment ID:  ib.2464410

| Directions: Answer the following question(s).

E] The speed of light is approximately 3.0 x 10® meters per second. The speed of sound is approximately
3.4 x 10 meters per second.

Part A:
What is the difference between the speed of light and the speed of sound?

Part B:
How many times faster is the speed of light than the speed of sound?

Write your answer in the space below. 7

The Hawaiian Islands formed as a result of tectonic plate movement over a volcanic hot spot. The rate of
plate movement can be calculated by dividing the distance that an island is from the hot spot by the age of
the island.

A scientist determines that one of the islands is 4860 kilometers from the hot spot and is 6.5 x 107 years old.
Which of the following statements are true? Select THREE that apply.

A. The rate of plate movement is approximately 7.5 cm per year.
B. The rate of plate movement is approximately 7.5 x 10™>km per year.
C. Ina million years, the plate has moved a distance of approximately 75 m.
D. In a million years, the plate has moved a distance of approximately 7.5 x 10’ mm.
Illuminate Itembank™ Continue: Turn to the next page.
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Student Name:

Problem Solving with Scientific Notation Assessment ID:  ib.2464410
| Directions: Answer the following question(s). j

Jerry’s calculator has 8 digits. He entered 50,000,000. Then he pressed the x? key to square 50,000,000.
A. What is 50,000,000 written in scientific notation?

Mrite your answer in the space below.

B. What is the result (in scientific notation) of squaring 50,000,000?

Write your answer in the space below. —’

C. Explain how you used scientific notation to find your answer to part B.

LWrite your answer in the space below.

The average circumference of Jupiter is 4.3926 x 105 km. The average circumference of Jupiter is 11 times
larger than the average circumference of Earth. Determine the average circumference of Earth. Write your
answer in scientific notation.

|Write your answer in the space below. —|

Iluminate Itembank™ Continue: Turn to the next page.
Generated On March 25, 2020, 1:02 PM PDT Page 2



Student Name:
Problem Solving with Scientific Notation Assessment ID:  ib.2464410

l Directions: Answer the following question(s).

A certain computer performs 1 computation in 1.5 nanoseconds. One nanosecond is equivalent to 109
seconds. At that rate, how many computations does the computer make per hour? Write your answer in
scientific notation. Show your work or explain your answer.

Mrite your answer in the space below.

Illuminate Itembank™

Stop: You have finished the assessment.
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